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AN &8Iz
MY ANBSAE P
el FHBSAE Oy 1S CERED
2 S 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S22 W STEY U= 3,000 3,000 0
201 gBt24d| 3,000 3,000 0
01 AP 22l H| 3,000 3,000 0
ONR 4 ZANLDS(LEE, 52, &
OHOH, DA =) 3,000
MAEZHNNN BESAE X (22H|) 204,741 196,557 8,184
J| 143,319
Al 61,422
307 2I2t0| & 204,741 196,557 8,184
J| 143,319
Al 61,422
10 AISIEXAIEEHE2IHIEX 204,741 196,557 8,184
OXHZHIoHA ESAIE 29| 204,741
J| 143,319
Al 61,422
SEHNHN 2SAE SN (HSS K 44 16,876 16,876 0
J| 16,876
301 LBt A= 16,876 16,876 0
J| 16,876
01 Al E & X 462 16,876 16,876 0
Odlzx=2 X MAHH & EAXNEXNIS 16,876
J| 16,876
SHAZSEMIol A 2= H|, 2t8dl K& 2,000 2,000 0
J| 1,400
Al 600
307 QI2+0 & 2,000 2,000 0
J| 1,400
Al 600
11T A EXAIEEX 2,000 2,000 0
OLd=ZHATHA 222t | 2,000
J| 1,400
Al 600
SHAEZHMNAN NS =ETZ ) 14,950 14,950 0
Dl 10,465
Al 4,485
307 212t0| & 14,950 14,950 0
J| 10,465
Al 4,485
11 A EXAIEEX 14,950 14,950 0
OdZHIoiA X2z 14,950
J| 10,465
Al 4,485
SOHOHIIoHAF RIRAIE & MESA 29 527,109 517,300 9,809
J| 368,976




2A: 41
M FHBEAE P
Chelt FHBSAE JlY S CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al 158,133
307 2iz2to| A 527,109 517,300 9,809
J| 368,976
Al 158,133
10 MM SAANEEHESIGHEX 527,109 517,300 9,809
OXSOHOHIIGH X XIRAlE 2HH| 527,109
J| 368,976
Al 158,133
SOHOHII ol Kb R AKX S 71,784 76,070 N4 286
J| 50,249
Al 21,535
307 @120l & 71.784 76,070 A4, 286
J| 50,249
Al 21,535
11T A EXAIEEX 71,784 76,070 N4 286
OXSONOH I oH Kb =X & 71,784
J| 50,249
Al 21,535
OAZAMMA NFAE =SXNEA 99,455 99,455 0
Al 99,455
307 2Iz2t0| & 99,455 99,455 0
Al 99,455
10 M SXNAEEHESIGHEX 99,455 99,455 0
OWE=ZTIol A NAAIE XS 99,455
Al 99,455
MAZSH(HA) 180,456 133,889 46,567
= 162,410
Al 18,046
301 LEtE A= 180,456 133,889 46,567
= 162,410
Al 18,046
01 Al B & A 462 180,456 133,889 46,567
OANELE=S A MASA 180,456
= 162,410
Al 18,046
Ols - HEUAEXAAN 2H(XE) 7,240 7,240 0
= 3,620
Al 3,620
201 et 9| 7,240 7,240 0
= 3,620
Al 3,620
01 AR 22l ] 7,240 7,240 0
Ol - HHEOHE XY A 2 (XIH) 7,240
= 3,620
Al 3,620




AN GEIEY
MY ANBSAE P
Chelt FHBSAE JlY S (B9 ®R)
. SfE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ots MK M XI& 2,464 2,464 0
= 1,232
Al 1,232
201 £B-2d| 2,464 2,464 0
= 1,232
Al 1,232
01 At 2t 2|l 2,464 2,464 0
OOtstEXE HE X& 2,464
= 1,232
Al 1,232
SOHOHIIGH A XIJAAIE JIs2EZAMd 35,422 0 35,422
J| 17,711
Al 17,711
402 RIZEX20l A 35,422 0 35,422
J| 17,711
Al 17,711
02 QIZE X 2AIL EZ (01 &) 35,422 0 35,422
OSHOHIIGHA XI&AIE JIsEZAY 35,422
J| 17,711
Al 17,711
SEZYIHA ESAE JIs22AMd 20,000 0 20,000
J| 10,000
Al 10,000
402 RI2HXt20l ™ 20,000 0 20,000
J| 10,000
Al 10,000
02 2IZt 2 A EZ(OI XM THS) 20,000 0 20,000
O&=ZIUoHA BESAIE JIsE22AY 20,000
J| 10,000
Al 10,000
Z41lol 0l EsAd 22X 150,746 0 150,746
Jl 105,522
Al 45,224
307 glz2tol & 150,746 0 150,746
J| 105,522
Al 45,224
10 AL SXAIEEE 2 H EX 150,746 0 150,746
OZgIloh OIFHE BESAE 22XH 150,746
J| 105,522
Al 45,224
HEZRSEA =4 22,280 20,980 1,300
HAEZRSEZA =4 22,280 20,980 1,300
201 Let24E] 8,580 7,980 600
01 At 22l 7,980 7,980 0
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,538,661

666,945
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,040,705

320,513

2,188,978

349,683

Al

280,000
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265,000

15,000

Al

280,000
280,000

265,000

15,000

Al

280,000

280,000
280,000

265,000

15,000

272,000

264,000

8,000

272,000

264,000

8,000

100,000 «850&
200,000& *560&
500,000& 150

272,000
272,000
85,000
112,000
75,000

264,000

8,000

Al
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SN &R
_El'_ |

g 28 2 JE N&
Sel: JIE=X S CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| A 50,000
E4EY MY 29 900 900 0
201 €2l 900 900 0
01 At 22/l 900 900 0
O=sdtEe 822 MH 900
StREEIIE Ots2=H X& 485,700 384,123 101,577
J| 388,560
Al 97,140
301 L2 A= 485,700 384,123 101,577
J| 388,560
Al 97,140
01 MEI2BZE+05l= 485,700 384,123 101,577
Oo0ts&=tl, FI0ts 2=l 475,850
J| 380,680
Al 95,170
Os1nssd s3I 9,850
J| 7,880
Al 1,970
HFAEHSEL Ots2=Hl N3 14,000 8,356 5,644
J| 11,200
Al 2,800
301 gEtE L= 14,000 8,356 5,644
J| 11,200
Al 2,800
01 MEI2EZE 406z 14,000 8,356 5,644
OFLEEIREE OtSL=FHI 12,580
p] 10,064
Al 2,516
OZZ A, NEXNEEN=E S 1,420
J| 1,136
Al 284
SIREIE s WS 163,400 163,400 0
Al 163,400
301 gErE L= 163,400 163,400 0
Al 163,400
01 Ml2ZE 6= 163,400 163,400 0
Onsstd W= 18,600
Al 18,600
O&FAY wWEH, =S8 23| 144,800
Al 144,800
SRNNHE Y =AHAXA 7,270 7,270 0
Al 7,270
301 e a3z 7,270 7,270 0
Al 7,270




M GEIED
HE: 2% o O15 N
e JIIEEXN X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al E & A 452 7,270 7,270 0
ORXIE WYYHEL XS (8 X2, A
2=32) 7,270
Al 7,270
orol==S X & 952,779 810,693 142,086
2 666,945
Al 285,834
307 2Iz2t0| & 952,779 810,693 142,086
2 666,945
Al 285,834
11T AISIEXAIEEX 952,779 810,693 142,086
OotolEss XIAY 952,779
= 666,945
Al 285,834
A0 & USSIIENJALAH 24 190,450 179,694 10,756
J| 95,225
Al 47,612
- 47,613
307 giztol & 190,450 179,694 10,756
J| 95,225
Al 47,612
- 47,613
10 A SAANEEESIGHEX 190,450 179,694 10,756
OAHLINERNJHLHEH 29 190,450
J| 95,225
Al 47,612
- 47,613
St=2=HuUE 29 22,162 22,162 0
Dl 15,513
Al 6,649
101 e1214| 10,661 0 10,661
J| 7,463
Al 3,198
04 J|12ZtHIZ22NEES 10,661 0 10,661
OJI2ZtHIZ2 2 XF 2l 4| 10,661
J| 7,463
Al 3,198
201 LBt | 1,301 0 1,301
J| 910
Al 391
01 AP 22| d| 1,301 0 1,301
Ost=20uy 2% SIE2E 1,301
J| 910
Al 391
301 et A= 10,200 22,162 A 11,962
J| 7,140




AN GEIEY
HE: 2% o O15 N
o9l HE=X S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 3,060
MIIEEd=s 10,200 0 10,200
O=20Hus 2 Akt 10,200
J| 7,140
Al 3,060
2% 2 ooy X 35,207,642 34,379,540 828,102
= 19,807,345
Al 12,837,330
- 2,562,967
EF AtY =2 4,300 5,000 A700
201 Let2d] 2,800 3,000 A 200
01 At 22l 2,800 3,000 2200
OE=A otll X+ A& 20,000 » 1402 2,800
203 YR =&l 1,000 0 1,000
03 AIHF=XH S =AH| 1,000 0 1,000
OESALYR AHF=H 1,000
301 et a = 500 2,000 A 1,500
MIIEEd=3 500 2,000 A 1,500
OE=s uidA M2 W=x 500
EFWEHA olAH XA 4,681,800 4,502,244 179,556
= 2,809,080
Al 1,310,904
- 561,816
307 21201 A 4,681,800 4,502,244 179,556
= 2,809,080
Al 1,310,904
- 561,816
10 ALSISXAIEEER2IHEX 4,681,800 4,502,244 179,556
OEsuAa oA 4,681,800
= 2,809,080
Al 1,310,904
T 561,816
Heols 2L X2 (H0Hot 82 HeolE 2l 1,936 1,936 0
)
= 1,162
Al 542
- 232
307 21201 A 1,936 1,936 0
= 1,162
Al 542
T 232
10 ALSISXAIEEER2IHEX 1,936 1,936 0
Oolgloly 28 X (HoHot &2 oelold Xt
Z2Idl) 1,936
= 1,162




SN &R
Hu: 28 9 JIE X¥
Sl 28 Y 0R0E X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %E& HRE2
Al 542
- 232
228 Helold X 483,333 475,000 8,333
= 290,000
Al 135,333
- 58,000
307 2Iz2t0| & 483,333 475,000 8,333
= 290,000
Al 135,333
- 58,000
10 MM SXAANEEHESIGHEX 483,333 475,000 8,333
O3 ooy X& 483,333
= 290,000
Al 135,333
- 58,000
2RI BHLY 1,540 1,540 0
201 et Y| 1,540 1,540 0
01 AP 22| d| 1,540 1,540 0
OB=Rds 3o FE&E
70,000& 11 %x23] 1,540
oelold 2IXA(0{210/& WA wW2Hl) 54,917 54,917 0
= 32,950
Al 15,377
- 6,590
307 2iz2to| A 54,917 54,917 0
= 32,950
Al 15,377
- 6,590
10 MM SAANEEHESIHEX 54,917 54,917 0
Oolglold 22X (oelold wMw-l) 54,917
= 32,950
Al 15,377
- 6,590
e d=4C XA 5,754,350 6,666,667 N912,317
= 4,315,763
Al 1,007,011
- 431,576
301 et A= 5,754,350 6,666,667 N912,317
= 4,315,763
Al 1,007,011
3 431,576
01 M3 EXEE 4562 5,754,350 6,666,667 N912,317
OJNEsdsS I 5,754,350
= 4,315,763
Al 1,007,011
- 431,576




SAD SIS
HE: 2% o O15 N
Sl 28 Y 0R0E X CERED
4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
oelold el X& 47,550 38,800 8,750
307 gl2tol & 47,550 38,800 8,750
10 M3 SXNANEHI2IHEX 47,550 38,800 8,750
Oogold gl XI& 47,550
geot2sz XA 14,919,915 14,133,333 786,582
= 11,189,936
Al 2,610,985
T 1,118,994
301 L2 A= 14,919,915 14,133,333 786,582
= 11,189,936
Al 2,610,985
T 1,118,994
01 Al EE E 563 14,919,915 14,133,333 786,582
O02Hl Ex2 S XA 14,919,915
= 11,189,936
Al 2,610,985
- 1,118,994
HEOOH Zlt:s E|& 223 3,200 N2,977
Al 196
- 27
301 L2 A Z 223 3,200 AN2,977
Al 196
- 27
01 MEIBEE 253 223 3,200 N2,977
OHIZ 0o =T EF= 223
Al 196
T 27
ESWNA HRME XN (RA2REAMH]) 1,396,728 785,886 610,842
= 838,037
Al 391,084
- 167,607
307 glz2tol & 1,396,728 785,886 610,842
= 838,037
Al 391,084
- 167,607
10 M ZXNANEHI2IHE=S 1,396,728 785,886 610,842
OBsnAA HR2HMH N (LDA2RZHA
dl) 1,396,728
= 838,037
Al 391,084
T 167,607
22 2UHE Y 29| 6,634 7,662 A 1,028
= 3,317
Al 1,582
- 1,735
201 LB-2dH| 6,634 7,662 A 1,028




AN GEIEY
HE: 2% o O15 N
Sl 28 Y 0R0E X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,317
Al 1,582
T 1,735
01 At 22l 6,634 7,662 A 1,028
22 2UHEH 2g4| 6,634
= 3,317
Al 1,582
- 1,735
ESE(NANSEEEXR) 105,200 103,620 1,580
= 52,600
Al 26,300
- 26,300
307 21201 A 105,200 103,620 1,580
= 52,600
Al 26,300
- 26,300
10 M2 SXNANEHE2IHEX 105,200 103,620 1,580
OAMZIXUSE (AZHH) BESX& 105,200
= 52,600
Al 26,300
T 26,300
oelold ¢t X3 19,800 19,400 400
307 gl2tol & 19,800 19,400 400
10 AL SXAIEEE2EH EX 19,800 19,400 400
Oongold Hdl XI& 19,800
SELNIY MM NA(BZ WA 21244l) 457,500 338,935 118,565
= 274,500
Al 128,100
T 54,900
307 21201 A 457,500 338,935 118,565
= 274,500
Al 128,100
T 54,900
10 ALSISEXAIEEE2EHEX 457,500 338,935 118,565
OESUNZE HME XN (2ZWA o2H]) 457,500
= 274,500
Al 128,100
- 54,900
oo 28 ANz X3 62,000 24,000 38,000
307 21201 A 62,000 24,000 38,000
10 M2 SXNANEHES2IHEX 62,000 24,000 38,000
Oogold &ed sS4 Mazdl 62,000
EI3~5MI0 el E Es= 5,968,000 5,990,000 A 22,000
Al 5,968,000
301 et d = 5,968,000 5,990,000 A22,000




M HEIIED
LRGP
Sel: 2% 2 OfR0IE X (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 5,968,000
01 A3l EE E 563 5,968,000 5,990,000 A 22,000
OB3~5M0t =2l E B2 X3 5,968,000
Al 5,968,000
HHBE=z XA 80,000 67,000 13,000
Al 80,000
301 L2 AF 80,000 67,000 13,000
Al 80,000
01 MEIBEE 253 80,000 67,000 13,000
OHENAES MHBESE=Z X 30,000
Al 30,000
OUXHEIE tuEsg K& 50,000
Al 50,000
FEXNFAHS0IEH H&H2FHI 9,000 9,000 0
Al 9,000
307 21240 & 9,000 9,000 0
Al 9,000
10 ALSISEXAIEEE2EHEX 9,000 9,000 0
OFEXNANE0IE N2 9,000
Al 9,000
HHEROIHE0IE ESUAN S222Y 24,800 20,700 4,100
Al 24,800
307 21201 A 24,800 20,700 4,100
Al 24,800
10 ALSISXAIEEER2IHEX 24,800 20,700 4,100
OXMHEROIHEOIE BERA S22 24,800
Al 24,800
Helold s8dss & A 56,566 56,566 0
Al 56,566
307 gl2tol & 56,566 56,566 0
Al 56,566
11 ALSI S XA E = 56,566 56,566 0
ONg ol s&sts 2 23t At 56,566
Al 56,566
238 ol =e2l& oyl K& 39,600 39,600 0
Al 39,600
307 21240 & 39,600 39,600 0
Al 39,600
10 M SXNANEHEI2IHE=X 39,600 39,600 0
OZ2380e0ld =2l A 39,600
Al 39,600
PSP HRML(EBIMLUS dA7ag) 165,000 165,000 0
Al 165,000




AN GEIEY
LRGP
Sel: 2% 2 OfR0IE X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 165,000 165,000 0
Al 165,000
10 AL SXAIEEE2EHEX 165,000 165,000 0
OBSWUAY HRML(BIHMHAE d7+E) 165,000
Al 165,000
U HR2RME(=X+L) 853,000 853,000 0
Al 853,000
307 glz2+ol & 853,000 853,000 0
Al 853,000
10 ALSISXAIEEE2EHEX 853,000 853,000 0
OESUNE HRME(2X=Y) 853,000
Al 853,000
OFZtOEI0IE ZelA2 2F M 950 1,050 A 100
Al 950
307 21201 A 950 1,050 A 100
Al 950
10 ALSISXAIEEE2IHEX 950 1,050 A 100
OO0l 2elAZ2 2% Al 950
Al 950
grzt, JIE0 el EsuA #2585+ 13,000 15,484 A2,484
Al 13,000
307 gl2tol & 13,000 15,484 A2,484
Al 13,000
10 AL SXNAIEEE2EHEX 13,000 15,484 A2,484
OgIzt, JHENE0d ESWA 2852 13,000
Al 13,000
Ots &St Al F=& 65,260 51,140 14,120
ots el 2% 65,260 51,140 14,120
Ots&SE Al =4 At 56,360 39,760 16,600
201 LB-2d| 43,760 28,760 15,000
01 At 22/ 19,760 23,760 4,000
Oget=gHl 3,000
OOs&S A= A3 3AFH =&
70,0003 x9H »23] 1,260
OO0tsastEAN = AHY 23 28 s HE
5,000& 500 2,500
OO0tz & 28, SAA Ui Otsdel W=s
(200,000& +100, 0002 )*203l 6,000
O0tsdel E2=3 M 2,000
otgs &l 8 24249 823 78
1,000, 000& *53| 5,000
02 =224l 5,000 5,000 0
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AN GEIEY
HH: oS Ol B3
el XA OFEQl AXB FA (&f
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 54,000 68,400 A 14,400
J| 37,800
Al 16,200
01 MEI2EZE 45z 54,000 68,400 A 14,400
oggots sds+4 X 54,000
J| 37,800
Al 16,200
QA0S HE N (ZMotsS =) 8,612 19,336 AN 10,724
J| 6,028
Al 2,584
301 LBtEAF 8,612 19,336 A 10,724
J| 6,028
Al 2,584
01 MEIBEE 053 8,612 19,336 A 10,724
OHMols ¢ 2=+ X 8,612
J| 6,028
Al 2,584
U IIHIALOIS MelNE N 1,000 2,000 £1,000
2 700
Al 300
301 LerE A3 1,000 2,000 21,000
2 700
Al 300
01 Al EE H =56l = 1,000 2,000 21,000
OgY - JIEAE0s delxlzg XN& 1,000
- 700
Al 300
22 =otag N 3,000 4,000 A 1,000
Al 3,000
301 gEtE 4= 3,000 4,000 21,000
Al 3,000
01 MEI2EZE 406z 3,000 4,000 21,000
Oge=dtza NA 3,000
Al 3,000
YAOIS IHE XV (YYHII2 2 N) 2,100 2,100
J| 1,470
Al 630
301 et a s 2,100 2,100
J| 1,470
Al 630
01 MEIBEE 263 2,100 2,100
Ogd=edizt 22X XA 2,100
Jl| 1,470
Al 630
AA0ts IHE KNI (LLHE) 5,400 5,400
— 15 —




SN &R

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Jl 3,780
Al 1,620
307 glz2tol & 5,400 5,400 0
J| 3,780
Al 1,620
11T M SXASEEX 5,400 5,400 0
OogadlE XA 5,400
J| 3,780
Al 1,620
g dets otssSA N 628,453 659,000 A 30,547
Al 471,340
- 157,113
307 21201 A 628,453 659,000 A 30,547
Al 471,340
T 157,113
11T M3 SXAISEEX 628,453 659,000 A 30,547
OEBY, d&x otsa=2aXA 628,453
Al 471,340
T 157,113
£, B5Y Ots=24XE 129,030 117,550 11,480
Al 129,030
307 gl2tol & 129,030 117,550 11,480
Al 129,030
11T M SXAISE EX 129,030 117,550 11,480
OE.Z5Y 0ts34 X 129,030
Al 129,030
OtssSAds=g 980 980 0
201 LBH2E| 980 980 0
01 At 22l 980 980 0
OOEZAAS 3]0 #asg
70,0003 +x7H %23 980
IFEASE SN A 90,000 102,600 A 12,600
Al 90,000
301 g2 4= 90,000 102,600 A 12,600
Al 90,000
01 MI2EZE+6l= 90,000 102,600 A 12,600
OJtEEOtS & 90,000
Al 90,000
AEAHNE  IER/E AME0S s E32 N3 42,000 42,000 0
Al 42,000
301 L2 A F 42,000 42,000 0
Al 42,000
01 MEIBEE 2063 42,000 42,000 0




SN &R

B FHo)E O 25
e XA olse HAEs &4 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OXEAUIIE JIEAS A0S Has=2
X & 42,000
Al 42,000
AEAEHINEOSE NEAA 55,000 55,000 0
Al 55,000
301 LBt A= 55,000 55,000 0
Al 55,000
01 Al E & A %62 55,000 55,000 0
AEAEHIIEOISE NE XA 55,000
Al 55,000
Ols &< Xl & H % 179,418 138,000 41,418
= 125,593
Al 53,825
301 LEtE A= 179,418 138,000 41,418
= 125,593
Al 53,825
01 Al E& A 462 179,418 138,000 41,418
Oolsee X AE X& 179,418
= 125,593
Al 53,825
NEotsHEH 2294 XK 792,600 853,236 A 60,636
= 396,300
Al 396,300
307 QI2t0| ™ 792,600 853,236 60,636
= 396.300
Al 396,300
10 AISIEXAIEEHE2IHIEX 792,600 853,236 A 60,636
OX<E0otsHdye 294 X 792,600
= 396,300
Al 396,300
Ex=s8Y XN 29,376 0 29,376
= 14,688
Al 14,688
307 2Iz2to| & 29,376 0 29,376
= 14,688
Al 14,688
10 M SXANEEHESIGHEX 29,376 0 29,376
OS+==2X8d X 29,376
= 14,688
Al 14,688
E2Y9 A 5,808 0 5,808
= 2,904
Al 2,904
307 giztol A 5,808 0 5,808
= 2,904




SN &R

g HAAS Ot ES
Sl KHALE OISl AFE 4 (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Al 2,904
10 ALSISXAIEEE 22X 5,808 0 5,808
OE22dY & 5,808
= 2,904
Al 2,904
S NA0tsdE X 34,776 0 34,776
= 17,388
Al 17,388
307 glztol & 34,776 0 34,776
= 17,388
Al 17,388
10 A SXAEHE2EHIER 34,776 0 34,776
O2=+=Xd0tSHE & 34,776
= 17,388
Al 17,388
ObSS X WA I (21 24H]) 215,880 201,600 14,280
= 102,540
Al 102,540
- 10,800
101 1Al 215,880 201,600 14,280
= 102,540
Al 102,540
T 10,800
04 JIZtHZ22 s+ 215,880 201,600 14,280
OOts=R WA 1A4H K& 205,080
= 102,540
Al 102,540
OO0S=X WA SXNEZUE X 3,600
OOtS=XUA HEHOUS XS 7,200
XNEotsdE SAX X<LIHAH 65,400 64,200 1,200
Al 54,240
T 11,160
307 glz2+ol & 65,400 64,200 1,200
Al 54,240
T 11,160
10 ALSISXAIEEE2EHEX 65,400 64,200 1,200
OXY0otsdE SAA MROHAH 54,240
Al 54,240
OAMEZ, ME=X A MRHAH 11,160
ANEotsdH IPTV S22 23| 21,546 21,546 0
Al 21,546
307 glztol & 21,546 21,546 0
Al 21,546
10 A SXAEHE2EHIEX 21,546 21,546 0




AR GRS =

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OlPTVE8Y X 21,546
Al 21,546

ANA0tsdlH 2etelsts =2H X2 7,500 7,500 0
Al 7,500

307 21201 A 7,500 7,500 0
Al 7,500

11T AISI S XA E X 7,500 7,500 0
OXgotsdlH =2etelss =24 XN& 7,500
Al 7,500

HEss XNd0tsdH 29 X 7,800 15,600 A7,800
Al 7,800

307 21201 A 7,800 15,600 AT,800
Al 7,800

10 M2 SXNANEHE2IHEX 7,800 15,600 A7,800
OMEss XdotsdEH 234l 7,800
Al 7,800

NGotsdE Hitegh 2Fd X3 4,905 4,890 15
Al 4,905

307 gl2tol & 4,905 4,890 15
Al 4,905

10 MBI ZXNANEHI2IHES 4,905 4,890 15
OXSotsdyH HLte 29H X& 4,905
Al 4,905

ANE0tsdH A= X& 3,150 2,925 225
Al 3,150

307 2I2t0l A 3,150 2,925 225
Al 3,150

10 M SXNANEHE2IHE=X 3,150 2,925 225
OXgotsdH Ao X3 3,150
Al 3,150

ENAFRIIE 29H A& 4,032 0 4,032
Al 4,032

201 Let24d] 4,032 0 4,032
Al 4,032

02 8323l 4,032 0 4,032
OE&8dIIHE 23H XA 4,082
Al 4,032

NEotsdE Hg MU 2,000 2,000 0

201 L2l 2,000 2,000 0

03 A2 Z Hl 2,000 2,000 0
OXYotsdH A M= 2,000

NEotsdHA} = 560 560 0




2N

P IlE=n}

B FHo)E O 25
S KNS Ols2e HANE =4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
201 Bt A | 560 560 0
01 At 22l bl 560 560 0
OXNGOSHEHAKXS 3o A4 560
FHAANS OtsSSMEIA X2 305,600 294,000 11,600
- 282,000
- 23,600
101 2121 d| 121,788 112,660 9,128
= 118,188
- 3,600
04 JIZtHI22XNSE S 121,788 112,660 9,128
OJI2ZtMZ2Z XF oA d| 118,188
= 118,188
OJZ2ZHMZ22A SXNEQE Y HEANZ 3,600
201 et A | 145,652 146,340 A\ 688
= 125,652
- 20,000
01 At 22l ] 134,950 135,638 N\ 688
OEEAHRE T2 29 99,730
= 99,730
OstsNad T2 29 20,000
OEEAEIE MH 249 2,000
= 2,000
OEHAEE AZAZF 24|
8,000& x4H x541 x 128 1,920
= 1,920
OEYHAEE &3 EWEHl 300,000 *123] 3,600
= 3,600
OEHAEHERIR/AY/S A=Y S 1,300
= 1,300
OEYAEIE 22 H& 6,400
= 6,400
02 3524t 7,702 7,702 0
ORolAH 29| 80,000& x12& 960
= 960
ORERZ, 8IIR=2 &8 2222 4,742
= 4,742
OX&Fs X &2l 1,500
= 1,500
OEEAEE dH W AIESX 500
= 500
03 A2 E H| 3,000 3,000 0
OEEAEE EBRA 29 S
1,500, 000& *23] 3,000
= 3,000
202 04 d| 12,840 7,200 5,640
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AR GRS =

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET

= 12,840

01 = LH o4 1l 12,840 7,200 5,640
OLEAERE A20s S0 12,840
= 12,840

203 YR =2t 2,400 2,400 0
= 2,400

03 AIZ=AH =AY 2,400 2,400 0
OEHAEE 2tE3l & AMMFAH| 2,400
= 2,400

301 LEtE L= 13,920 15,400 A 1,480
= 13,920

09 HALAHIEAS 3,000 500 2,500

OSYABE T2 0K Al S

150,000& *203] 3,000
= 3,000

1M1IIEEAS 10,920 14,900 A 3,980
OEEAEE Z208 2AHl 910,000& 128 10,920
= 10,920

307 21201 A 5,500 6,500 A 1,000
= 5,500

11T M3 SRAISEEX 5,500 6,500 A 1,000
O=dJa =228 23 XA 5,500
= 5,500

402 QI2H X201 M 1,000 1,000 0
= 1,000

03 212t &AL S HI 1,000 1,000 0
OEZAEE SESFEANAE 2= 1,000
= 1,000

405 TtabF S| 2,500 2,500 0
= 2,500

01 et EFFHSHI 2,500 2,500 0
OMEE HS € 8RH #8 S 2,500
= 2,500

ots=¢ 5,051,246 0 5,051,246
= 4,037,761
Al 712,352
- 301,133

101 1A bl 27,174 0 27,174
= 19,022
Al 8,152

04 JIZHHZ2Z2XNESE S 27,174 0 27,174
O0ts+4 M7= X 27,174
= 19,022
Al 8,152




D OEEY

B: HANS OS 25
P XNEAE Ols29 AEE 4 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

201 Bt 5,190 0 5,190
2 3,633
Al 1,557

01 AP 22| H| 5,190 0 5,190
Olts4+Y Atg 29| 5,190
= 3,633
Al 1,657

301 et A= 5,018,882 0 5,018,882
= 4,015,106
Al 702,643
- 301,133

01 Al B & A 262 5,018,882 0 5,018,882
Ootss+< 5,018,882
= 4,015,106
Al 702,643
- 301,133

Ots=XAIE 29 X& 6,366,312 6,059,737 306,575
= 573,508
J| 90,317
Al 5,702,487

MAB01(0HS) 637,232 656, 111 £18,879
= 573,508
Al 63,724

301 et A= 637,232 656, 111 A 18,879
= 573,508
Al 63,724

01 Al E& A 252 637,232 656, 111 N 18,879
OOtsSAlE MAZ20 637,232
= 573,508
Al 63,724

OlsS AIE2dHl L SAFA o 2d| 5,259,853 4,960,561 299,292
Al 5,259,853

307 2iz2to| A 5,259,853 4,960,561 299,292
Al 5,259,853

10 MM SAANEEHESIGHEX 5,259,853 4,960,561 299,292
OO0ISEXAYE 29Hl L SAXI 24| 5,219,853
Al 5,219,853
O0ls2ANESA 29H NS 40,000
Al 40,000

OFS Al AIHIXI& 115,000 135,482 N 20,482
Al 115,000

307 2Iz2to| A 115,000 135,482 N 20,482
Al 115,000

11T A EXAIEEX 115,000 135,482 N 20,482
OAlE0ts =80 &t 2,000

- 22 -




L ECEE
Ha: F o
Sl OS = XA

g 2N (29l 8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

Al 2,000
OZO0tAIE JIMA 7,000
Al 7,000
OAl&0ts wsHl XI& 35,000
Al 35,000
OAE0tE oA=&t 5,000
Al 5,000
OAd0ls 8= 50,000
Al 50,000
Osts2 x| 16,000
Al 16,000

Ela0ts NHEEERZ 85,000 85,000 0
Al 85,000

301 L2 A S 85,000 85,000 0
Al 85,000

01 Al EE E 563 85,000 85,000 0
O&8lA0ts HEHES 85,000
Al 85,000

QES0ts D88 22 71,022 65,637 5,385
Il 28,409
Al 42,613

307 21201 A 71,022 65,637 5,385
| 28,409
Al 42,613

10 ALSISXAIEEER2IHEX 71,022 65,637 5,385
O3s4EINE(Os8E) 28X 71,022
| 28,409
Al 42,613

TESMEINT AFSHY N 7,540 6,876 664
Al 7,540

307 gl2tol & 7,540 6,876 664
Al 7,540

10 M ZXNANEHI2IHES 7,540 6,876 664
SSHEIIE A¥s4H XA 7,540
Al 7,540

SSHEINE SAL EXN=E 12,600 12,600 0
Al 12,600

307 2Izt0l A 12,600 12,600 0
Al 12,600

10 M EXNANEHE2IHE=X 12,600 12,600 0
O3SHEINE SAN =X K& 12,600
Al 12,600

OtsAlE otdzte] - 83 H XI& 23,295 11,000 12,295
Al 23,295
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SH: 0147
Za: 3ot

el OtSSXA

&2 2gxe (Ete: 8 2)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 2Iztol ™ 23,295 11,000 12,295
Al 23,295
10 M3 SXNANEHI2IHEX 23,295 11,000 12,295
OO0tsSAlg etdzte| &3 &d X 23,295
Al 23,295
Stiimloiots& H 2%, el28l, At 154,770 126,470 28,300
| 61,908
Al 92,862
307 glz2+ol & 154,770 126,470 28,300
| 61,908
Al 92,862
10 ALSISXAIEEE2EHEX 154,770 126,470 28,300
Osuoiotsade 23 XA 154,770
J| 61,908
Al 92,862
Hdad B5 9 84 136,890 106,650 30,240
= 9,170
| 61,000
Al 39,685
- 27,035
dAa4d =X 136,890 106,650 30,240
= 9,170
| 61,000
Al 39,685
- 27,035
HFLAUEES 14,750 8,150 6,600
201 Let2d] 14,750 7,750 7,000
01 At 22l 14,750 7,750 7,000
OFAEE 25 U= 8,750
O r82Es49I8, soEMcg
70,0003 x108 *13] 700
O TXIGASIHAHEESXNAMNAHSLEE S, 3
O F MG 70,0003 x10E #23| 1,400
O rstDEA XA s, 5olBL+Y
70,000& x 15 »23| 2,100
Ostu=d g 223 MA 1,800
-0 MO, EE=3 S
900& *2, 0004 1,800
FAaERolEE ZAIE X 2,800 2,700 100
= 1,400
Al 1,400
307 glz2+ol & 2,800 2,700 100
= 1,400
Al 1,400
02 QB HAANGFEE 2,800 2,700 100
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AN GEIEY
Hm: HAW 25 U 84
ool aE =X EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAERNSI LAY 2SS 2,800
2 1,400
Al 1,400
dad ZRY 29 14,000 14,000 0
Al 7,000
T 7,000
307 21201 A 14,000 14,000 0
Al 7,000
T 7,000
10 ALSISEXAIEEE2EHEX 11,200 11,200 0
OFAEESRY 2¢ 11,200
Al 5,600
- 5,600
11 ALS S RAEE = 2,800 2,800 0
OFAEZRY T2 At 2,800
Al 1,400
- 1,400
METH, HZRNEE 24 SEEXE 9,000 8,000 1,000
J| 6,400
Al 2,600
301 et a = 8,824 7,824 1,000
J| 6,400
Al 2,424
01 MEIBEE 2053 8,824 7,824 1,000
O AZiNEds FLAESEXNA 8,824
J| 6,400
Al 2,424
307 21240 176 176 0
Al 176
11T AL S XA E X 176 176 0
OdEIa ALNES T2ESETE M2
| 176
Al 176
stn 8 HAd X2AY 78,000 71,000 7,000
J| 54,600
Al 23,400
307 21201 A 78,000 71,000 7,000
J| 54,600
Al 23,400
05 RIZt2lEt = 78,000 71,000 7,000
Ot % dad XNJAAZ 78,000
J| 54,600
Al 23,400
HAUFOARNE 2YN 2,800 2,800 0
Al 1,400
- 1,400

_25_




SN 8IS
XM HAH
e R PNE

SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 2,800 2,800 0
Al 1,400
- 1,400
05 RIZHRI & 3 2,800 2,800 0
OFAHENWARZS 23 2,800
Al 1,400
= 1,400
HAE AL XS ALY 5,540 0 15,540
2 7,770
Al 3,885
T 3,885
301 et a = 15,540 0 15,540
2 7,770
Al 3,885
T 3,885
01 MEIBEE 263 15,540 0 15,540
OFad AZXNEAY 15,540
= 7,770
Al 3,885
- 3,885
HAE2LAZH (HEIIED) 88,230 83,548 4,682
Jl23&dl 88,230 83,548 4,682
JlE2ztl 88,230 83,548 4,682
201 Let24E] 17,430 15,508 1,922
01 At 22l 17,430 15,508 1,922
O=AERX ¢ 20,0003 »71 A 1,420
OEUHZY 3,050
== 115,000 =40 53] 2,300
-ZelH(2d) 150,000 = 1CH 53] 750
ORM2EII2+8H| 10,0002 »20H «12& 2,400
OAlZtel 2R = Al
8,000& *5.541+x20H « 128 10,560
202 (4 Hl 67,200 63,840 3,360
01 = LH YI 67,200 63,840 3,360
OZH o Hi 280,000& 20K 123 67,200
203 YR =&l 3,600 4,200 A 600
04 FN2ELRZ=TH| 3,600 4,200 A 600
ORAM2Y =2 300,000& »12& 3,600
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